5.1.3 Mathematics Alternative B (122/1)

I. a’— b? _ (a+b)a—Db)
a’+ab—a—b a(a+b)—I{a+b) Ml
_{a+b)a—hb) '
(a—1)a+b) Ml
_a—b
Ca-—1 Al
3
2. | Auma: Barua: Chiku = 2:3:5 Bl
_ 105000
Total profit = 7 x 10 M1
= 150000 Al
3
3. |6561 =3¢ Bl
32y — 38
2y =8 Ml
3
4. Hypotenuse = / 72 4:“45%2_ M1 |or Alternative
=J/74
Sin@=—2—
J74 Al
or =0.5812
2
3. Density in g/em® = 30 Ml
64
30
Density in km/m? = 12¢ Ml
100
= 468.75 kg/m? Al
3
6. l(a) 40=2x5;56=2°xX7; 64=25 M1
Greatest length of pieces =27 = 8 Al
(b) (40+8)+(56+8)+(64=8) Ml
=20 Al
4
7. | Length of minor arc ALTERNATIVE
__81 31.24 M1 | Angle of major sector
360 =360° - 81°
=7.029 ' =279°
Length of major arc Length of major arc
=31.24 - 7029 M1 - D90
3607 31.24
=24211 Al =24211
3
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8. |(a) LZCAD= 40° alternate £s Bl
(b) LDBC=40°
s ZTBD = 180°— 40° M1 | £s subtended by same chord are
= 140° Al [equal '
3
9.
B1 |3 faces accurately drawn
Bl
Bl
3
10. 100 x=13.333... M1
i0x= 1333.7
0 x=12 M1
2 B
90 15 Al
3
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x=-1+ drawn B1
image A’ B'C' D’ drawn Bl
A’B'C’' D’ is oppositely congruent to ABCD Bl
' 3
12. | Total surface area

=22 5354+ 22 x35x9 MI
7 7 M1

=-27—2x3.5(3.5+ 9)
=137.5¢cm Al
3
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13.

(a) AB accurately drawn B1
BC accurately drawn B1
{b) distance from A to C
=102x 10 Ml JAC=102+0.1 cm
= 102 km Al '
4
(a) height = /137 — 5 Ml
=12cm Al
(b) volume:—;-x8x6x12 ‘M1
=192 em’ Al
4
15. |-5x-3>2x4+4
Sx-2x-3>4
Ix >7 Bl
x<-1
TS #3214 § 13 Bl
2
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16. | Time at stop B
8.00+14—2h:11.00 Bl
Time taken to C from B
1145 - 11.30 = 15 minutes BI
Distance = 12+%x72 M1
=30 km Al
4
17. {a) Area to be painted
2(I5X34+9X3)-(2X22X3+15X15X6)i MI |area of walls
' M1 |area of doors and windows
M1 |difference
=1173m? Al
b) No. of tins required
__117.3 M1
4x25
=11.73 Al
~ 12 tins BI
¢) 'Total cost: ;
12 X 1700 + (2000 + 30 X 117.3) M1 |costof paint _
M1 [sum of cost of paint, sianding charge
and labour
= Sh 25919 Al
10
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18 1) 2xLxsxssiniser Nl
=125 em® Al
oL
0) & 220~ gin7s° M1
BD=97 Al
(ii) Area of A BCD
S=%(9.7+16+16):20.85 Bl
A=/20.85(2085—9.7){20.85— 16 M1
= \/20.85 % 11.15 % (4.85)2
= 73.95 Al
¢) Area of kite ABCD M1
4 X12.5+ 7395 Ml
=80.2 cm? Al
10
19. |a) odd numbers after X
x+2,x+4,x+6 Bl
X+HX+2D+(x+4)+{(x+6)=120 M1
4x=120-12
x =27 Al
.. odd numbers: 27,29,31,33 B1
b) (1) 3p+2m= 1180 Bl |for3p+2m=1180
2p+m =680 or2p + m = 680
3p+2m = 1180 ........ (1)
2p+ m= 680 ... {ii)
3p+2m=1180.........(0) M1 |orequivalent
4p+ 2m = 1360 ........ (iii)
p=180
substitute p = 180 in (ii)
2 % 18l = 680 Al |forp =180 and m = 320
m = 320 Bl
p +m= 180 + 320 = 500
M1
(i) 180 X 1.1 + 320 X 0.95 Al
198 + 304 =502 10
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20.

a) (i} 10:800
. 1:80
height of door on photograph:
_ 240
~ 80
=3cm

(i) L.S.F = 1:80
AS.F=1:6400 -

.. Actual area of the window
_ 1.4 X 6400
10 000

0.896 m?

b) (i) Volume scale factor
= (/16 :(,/49)

=04:343

(ii) Volume of bigger cuboid

_ 128
e % 343

= 686 cm’

Bi

M1

Al

B1

M1

Al

Mi
Al

M1
Al

10

or equivalent
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21

a) construction of 120°
completion of A

by (i) identifying centre of circle
1 from centre to at least one side
completing circle radins 1.7 £ 0.1

(i) L fromCto N
CN=61=0.1

) areaofAABC:%xg % 6.1

area of circle  =3.142 X 1.7%
arca of A outside the circle
= —;—xs % 6.1-3.142 X 1.72

=244 -9.079202769
= 15.32079723
=15.32

M1

M1

Al

at least 2 mediators drawn
at least 1 perpendicular drawn

10
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22,

a) 3600 X 22.07 + 4500 X 10793
= 565137

b) (i) 2000 X 80.89 + 5000 X 11.60

= 219780
(ii) 219780 X0
= 142857
Balance:
219780 - 142857
=76923
Exchange:
_ 16923
T 128.55
~ 508

M1
M1
Al

M1
M1
Al

Mi

Mi

M1
Al

10

v conversions
sum

Vv conversions
sum
or equivalent e.g. 35% used correctly
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23.

a) (i) Lowheny=0,x= :2_3
(i) L : whenx =0,y = 3

b) (i) L,, wheny=4,x=2
L2: whenx=-2,y=06

gf ) s

wwwww

Bl

Bl

Bl
Bi

Line Ll drawn
Line L2 drawn

(ii) value of x and y when L = L,
x=08,y=46

(iii) area of region bounded by L., L, and
X - axis

Area:-i——x 11.5x 4.6

=2645

Bl
Bl

Bl

M1

M1
Al

for 11.5and 4.6

10
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24.

a) (3x + 1)2x =6x%+ 2x

—

b) (i) (2x + 2)4x = 6x* + 2x + 36

2x2+6x-36=0

(2% + 12)(x -3) =0

x=3
(i) area of carpet

=3(3) + 1 +2(3)
=10 X 6 = 60m?

¢) Cost of carpet
=60 X 1600
= 96000

Cost of labour
= 96000 X 0.025
= 2400

Total cost
= 96000 + 2400
= 98400

Bl

M1

Ml
Al

M1

Al

M1

Ml

Ml
Al

10
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